178 PC Bus for Peripheral Chip Access Chapter 9
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Figure 9-16 241.C01B EEPROM message strings.

if that address byte is followed by three data bytes and the STOP condition, then the first of the three
data bytes will be written into address B'00010110’, the second into B‘00010111’, and the third into
B’00010000’ (and rot into B'00011000’, as intended).

Reading any number of bytes of data from selected EEPROM addresses requires that a starting
address first be sent to the EEPROM with the write message string of Figure 9-16a. This string is fol-
lowed by the message string of Figure 9-16c¢, consisting of the START condition, a read command, and
then a read of data from consecutive addresses sent back by the EEPROM. The PIC signals the EE-
PROM to send no further bytes by not pulling the SDA line low during the last acknowledge bit time.

The sending of the STOP condition by the PIC completes the message string.
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